T8.1. Hatizure 26 sina, eciu cosa = % H 377{ <a<2m.

T8.2. Haviaure 13 cos a, ecyiv sina = -l%- % <a<m
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T8.3. Haiaure 34 sin a, eciu cosa = 745 <a< 2.

T8.4. Haiiaute 50 cos a, ecyid sina = gg % <a<Tm.

T8.5. Haiizute 3HaueHHe BbIpaxkeHHs 4 + 5tga - cos® a, ecnau
sina=—
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T8.6. Haiiaure 10cos(§+a) ECJIHCOSCI—-—OSHCIG( TS

T8.7. HaiiguTe 3HaueHMe BrpaxeHus 6sin® a, ecmu tga = v2.

T8.8. HaiiauTe 3HaveHue BhipaxkeHua 12 cos® a, ecau tga = /5.

T8.9. HaitauTe 6cosa, e tga=2vV2un<a< §2£

T8.10. Hangure 26sina, ecmutga=24un<a< %T—[

A1.7. HailauTe 3Ha4eHHE BblpaKeHUA

5s5in98°
sin49°-sin41°"

J11.8. Haiigure Aflsin(ST7r +a), e sina=-0,6 M ae (TE; %E)

.ZI-S.?. HaiijuTe 3HaueHHEe BhIpaXKEHHA

4\/_cos — CO0S 5?7:

[5.8. HaiiguTe 3HaueHHEe BhIpAXXeHHA

3cosa—4sina
2sina—5cosa’

ecu tga=3.



